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. Two companies report the same cost of goods available for sale but each employ a different inventory costing method, If the
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- When a company purchases land with a building of it and immedately tears down the building that the land can be used for the
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The credit balance in Allowance for Uncollectibles is $ 14,300 prior to the adjusting entries at the end of the period. The

aging of accounts indicates that an allowance of $78,900 is needed. The amount of expense to record is :

(1)$14,300 (2)$64,600 (3)$78,900 (4)$93,200

price of goods has increased during the period, then the company using

(1) LIFO will have the highest ending inventory.

(2) FIFO will have the highest cost of goods sold.

(3) FIFO will have the highest ending inventory.

(4) LIFO will have the lowest cost of goods sold.

(5) None of the above.
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construction of a plant, the costs incurred to tear down the building should be

(1) Expensed as incurred.

(2) Added to the cost of the plant.

(3) Added to the cost of the land.

(4) Added to the cost of the estimated time period between the tearing down of the building and the completion of the plant.
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